G

B www.Adeept.com Adeept

M3*8 screw
X6

~.| M3*40 Nylon standoff
X6

Effect diagram after assembling:

Back view

Front view

(2) Assemble the following component

16



G

B www.Adeept.com Adeept
M1.7#%6*6 self-tapping Screw M2.5*%8 screw
X6 X6

Effect diagram after assembling:

Front view

Note: The front of( the bottom plate is without nylon
standoffs. The legs on both sides should be as shown.

17



I www.Adeept.com Adeept
(3) Assemble the following component

M3*10 screw

X2 \l
d
-]

M3  nut /0

X2

Effect diagram after assembling:

Note: The area
facing outside
is vertical to
the bottom
plate.

(4) Assemble the following component

18



I www.Adeept.com

Effect diagram after assembling:

19

M3*8 screw
X6



B www.Adeept.com Adeept

(5) Assemble the following component

M2*8  screw
X2

M2 nut
X2

Effect diagram after assembling:

(6) Assemble the following component

20



B www.Adeept.com Adeept

M3 nut
X4

M3*20 Nylon standoff

X2
\,

M3*8 screw
X4

M3*10 screw
X4

|

Effect diagram after assembling:

- M3*10 screw - -
Front view Side view

Note: These two are the fixed points of the nylon M3*8 screw
standoffs and are used to fix the servos.

21



B www.Adeept.com Adeept

(7) Assemble the following component

4 PIN WIRE (male to female) X1

M2.5*8 screw M2.5 nut
X2 X2

Effect diagram after assembling:

Note: The positions of the nut and screw are not
interchangeable, otherwise the MPU6050 will be damaged.

(8) Assemble the following component

22



I www.Adeept.com

—_—

Effect diagram after assembling:

&

G

Adeept

M1.4*6 screw
X4

3-Pin Wire
X2

Vig [ .

o F
My

&
'

voe

Tl

g
@
<]
&
g o= ¥
8
£
x
s

(]

Ono
b oo
™ our

L]

Note: The LED module has an
input (IN) with a white edge and

an output (OUT) without white
edge. If the LED does not light up
in yellow normally, then check if
the input and output are

reversed.

(9) Fix Adeept Ultrasonic Module on acrylic plate

23




G

I www.Adeept.com Adeept

a>._ 5
qlu M1.4*6 screw
/ X4

S | 4PINWIREX1

Effect diagram after assembling:

24



B www.Adeept.com Adeept

(10> Assemble the following component

nut

M3*10 screw
X2

Effect diagram after assembling:

(11> Assemble the following component

25



B www.Adeept.com Adeept

M1.7%6*%6 self-tapping Screw
X1

M2.5*%8 screw
X1

26



I www.Adeept.com

(12> Assemble the following component

M3*12 screw
X2

Effect diagram after assembling:

M3*10
X2

screw

Adeept

27

M3 nut
X4




I www.Adeept.com Adeept

Front view

Note: The holes on the mold
should correspond to the ones Back view
of Arduino.

(13) Assemble the following component

M3*16 screw
X1

M3 lock nut

M3*15
Nylon Standoff

M3*8 screw
X2

28



G

B www.Adeept.com Adeept
Effect diagram after assembling:

Side view

Note: do not tighten
the M3 lock nut or it
cannot move.

Front view

The position of the
nylon standoff.

(14) Connect Arduino HAT and the robot

Effect diagram after assembling Wiring diagram:

Note: Do not try to connect here, the actual connection
interface will be described in detail below.

29



B www.Adeept.com Adeept

Effect diagram after assembling:

(15) Now, you can connect AdeeptPixie and robot body:

30



B www.Adeept.com Adeept

31



B www.Adeept.com Adeept

Wiring diagram for the chip pins.

Connectservo by
number (D2-D14)

Note: connect VCC, GND, SCL, and
SDA correspondingly, or the
Arduino board will be damaged.

Power

interface

(16) After completing the assembly, please follow the course below to
further learn how to control the robot.

32



B www.Adeept.com Adeept

33



